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FEA TR W+ 63.80 m® 63.8
T AT 7 )L N ALER 0.60 X 0.04 X 104.2 m® 2.50
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T VEEE - /L4y T 0.023 X 0.04 X 104.2 m® 0.10
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BRI T Mg WE 1 0.60 X 0.737 X 0.5 m 0.2
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( 1.0 m Y7=0¥kE)
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EAERR B As, t=15cmbL T 2 X 1.0 m 2.0
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 1.0 m> 0.6
BRI T Mg WE 1 0.60 X 0.670 X 1.0 m 0.4
A AR B T RC-40 ( 0.60 X 0.520 — 0.060 2 X x,/4)xX 1.0 m® 0.3
TR
FA TR WE+ 0.40 m® 0.4
T AT 7 )L ML 0.60 X 0.04 X 1.0 m® 0.02
MR AR e As m’ 0.02
TG VEEE - /L4y T 0.023 X 0.04 X 2.0 m®|  0.002
AR T RC-40, t=16cm 0.60 X 1.0 m> 0.6
A RIFEAs(13)
*g t=3cm 060 X 1.0 m® 0.6
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EEERR B As, t=15cmPA T
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BRI T Mg WE 1 ( 0.60 X 0.680 — 0.060 2 X x,/4)X 1.0 m? 0.4
IR T RC-40 0.60 X 0.520 X 1.0 m® 0.3
TR
FA TR WE+ 0.40 m® 0.4
T AT 7 )L ML 0.60 X 0.03 X 1.0 m® 0.02
MR AR e As m’ 0.02
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 1.0 m> 0.6
A RIFEAs(13)
*g t=3cm 060 X 1.0 m® 0.6
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SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 4.6 m> 2.8
BRI T Mg WE 1 0.60 X 0.320 X 4.6 m 0.9
IR T RC-40 0.60 X 0.170 — 0.060 2 X gx,/4)X 4.6 m® 0.5
TR
FA TR WE+ 0.90 m® 0.9
T AT 7 )L ML 0.60 X 0.04 X 4.6 m® 0.11
MR AR e As m’ 0.11
TG VEEE - /L4y T 0.023 X 0.04 X 9.2 m®| 0.008
AR T RC-40, t=16cm 0.60 X 4.6 m> 2.8
A RIFEAs(13)
*g t=3cm 0.60 X 4.6 m® 2.8
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EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 4.6 m> 2.8
BRI T Mg WE 1 ( 0,60 X 0.330 — 0.060 2 X x,/4)X 4.6 m? 0.9
IR T RC-40 0.60 X 0.170 X 4.6 m® 0.5
TR
FA TR WE+ 0.90 m® 0.9
T AT 7 )V NSE 0.60 X 0.03 X 4.6 m® 0.08
MR AR e As m’ 0.08
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 4.6 m> 2.8
A RIFEAs(13)
*g t=3cm 0.60 X 4.6 m® 2.8
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IR T RC-40 0.60 X 0.137 — 0.027 2 X gx,/4)X 3.0 m? 0.2
TR
FA TR WE+ 0.50 m® 0.5
T AT 7 )L ML 0.60 X 0.04 X 3.0 m® 0.07
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TG VEEE - /L4y T 0.023 X 0.04 X 6.0 m®|  0.006
AR T RC-40, t=16cm 0.60 X 3.0 m> 1.8
A RIFEAs(13)
# )= t=3cm 0.60 X 3.0 m® 1.8
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IR T RC-40 0.60 X 0.137 X 3.0 m® 0.2
TR
FA TR WE+ 0.50 m® 0.5
T AT 7 )V NSE 0.60 X 0.03 X 3.0 m® 0.05
MR AR e As m’ 0.05
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 3.0 m> 1.8
A RIFEAs(13)
*g t=3cm 0.60 X 3.0 m® 1.8
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A BT RC-40 0.60 0.132 — 0.022 2 X 7/4)X 4.5 m® 0.4
R
FA TR WE+ 0.80 m® 0.8
T AT 7 )L ML 0.60 0.04 X 4.5 m® 0.11
MR AR e As m’ 0.11
15 VRER - L T 0.023 0.04 X 9.0 m®| 0.008
AR T RC-40, t=16cm 0.60 4.5 m? 2.7
A RIFEAs(13)
#E t=3cm 0.60 4.5 m? 2.7
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1 DX (i) il TR RS
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BRI T Mg WE 1 ( 0.60 X 0.292 — 0.022 2 X g5,/4)X 45 m? 0.8
IR T RC-40 0.60 X 0.132 X 4.5 m® 0.4
TR
FA TR WE+ 0.80 m® 0.8
T AT 7 )V NSE 0.60 X 0.03 X 4.5 m® 0.08
MR AR e As m’ 0.08
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AR T RC-40, t=16cm 0.60 X 45 m? 2.7
A RIFEAs(13)
*g t=3cm 0.60 X 4.5 m® 2.7
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TIUVBAME T Fi
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+TAa47° 1-1 TEHE As PP ¢ 50 DP=0.90m
2-1 X
+ TR L= 45.0 = 45.0 m
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= £ e HARIEE BREM — pP_ | +#9 [ 0.900
g RC-40 < H1 [ #m#izE]  1.060
i H2 | A& ]  1.020
1B hl [$E5H| 0.410
iz—F v h | # & 0.460
! oﬂ
| o
~N B| —
l | =
—
! 8
! v v
¢D
( 45.0 m YV E)
4 PR G2 N i " =V B =
Sl RO As, t=15ecmEL T 1 X 45.0 + 5.0 m 50.0
SREERRTUELRGA T As, t=10emPL T 0.60 X 45.0 m?® 27.0
B mE T et W+ 0.60 X 1.020 X 45.0 m® 27.5
IR T RC-40 0.60 X 0.410 X 45.0 m® 11.1
A s B T oooan D ( 0.60 X 0.460 — 0.060 2 X gx,/4 )X 45.0 m? 12.3
R
FEA TR W+ 27.50 m® 27.5
T AT 7 )L N ALER 0.60 X 0.04 X 45.0 m® 1.08
S S N As m’ 1.08
T VEEE - /L4y T 0.023 X 0.04 X 50.0 m® 0.05
PEAZ T RC-40, t=16cm 0.60 X 45.0 m? 27.0
A RIEAs(13)
*Eg t=3cm 0.60 X 45.0 m? 27.0

18




2T X CRBO B+ TR R

T+ T & &
+TAa47° 1-2 THEHE As PP ¢ 25 DP=0.65m
2-2T X 2-3 T [X Fr—r
+ TR L= 275 +4.0 +1.6 = 33.1 m
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= N , % S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
= £ e HARIEE BREM - DP | +#0 [ 0.650
g RC-40 < H1 | #mige[ 0.784
i H2 | #HIE] 0.744
1B hl [$E5#| 0.160
iz—F v h | # & 0434
[ ok
i S
~N B —4
l | =
—
o
i Sy 4
!
¢D
( 33.1 m YhEE)
4 PR G2 N 7 " =Y B =
EEERR B As, t=15cmL T 1 X 331 + 5.0 +4.0 m 42.1
ERERBUELRSAT]  As, t=10cmBL T 0.60 X 33.1 m? 19.9
B mE T etk W+ 0.60 X 0.744 X 33.1 m® 14.8
IR T RC-40 0.60 X 0.160 X 33.1 m® 3.2
A s B T oooan D ( 0.60 X 0.434 — 0.034 2 X g7,/4)x 33.1 m® 8.6
R
FEA TR W+ 14.80 m® 14.8
T AT 7 )L N ALER 0.60 X 0.04 X 33.1 m® 0.79
S S N As m® 0.79
T VEEE - /L4y T 0.023 X 0.04 X 42.1 m® 0.04
BT RC-40, t=16cm 0.60 X 33.1 m® 19.9
A RIEAs(13)
)= t=3cm 0.60 X 33.1 m® 19.9
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2T X CRBO B+ TR R

T+ T ¥ & &
+TAa47° 1-3 THEHE As PP ¢ 25 DP=0.65m
2-3 X
+ TR L= 41.0 = 41.0 m
< L >
fEEl | BR
i
i
i
i
i
|
i
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.034
= = WHIES ERM - pp_| 4| 0.650
| RC-40 < H1 | #mige[ 0.784
i H2 | #HIE] 0.784
1B hl |54 0.350
iz—k \ h | # & 0434
f ok
i S
~N B| —
l | =
—t
i Sy 4
!
¢D
( 41.0 m YVEE)
4 R G2 N #t B =Y BN &
B IRE T et WE 0.60 X 0.784 X 41.0 m® 19.3
BHIERE T RC-40 0.60 X 0.350 X 41.0 m? 8.6
AR T Joay W ( 060 X 0.434 — 0.034 2 X 7,/4)X 41.0 m’ 10.6
$mi)
FEA T R WE+ 19.30 m® 19.3
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2T X (ORER) i) + THREEE
T T %
+TAa47° 1-6 THEHE As PP 13 DP=0.65m
S3 S5 S6
+ TR L= 25 +3.0 +1.0 = 6.5 m
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % S
T
: Eﬁﬁ OA
| RC-40 S
i
i A
| W_[maliE]_0.600
o I D1 | &4ME| 0.022
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 [#mEigE] 0.772
i H2 | #HI&| 0.732
:%HE-T- hl [$E5#| 0.160
iz—F v h | & 0.422
f ok
i S
~N B —A
l | =
—t
i Sy 4
!
¢D
( 6.5 m M7hHE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emZL T 2 X 6.5 m 13.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 6.5 m2 3.9
BRI T Mg WE 1 0.60 X 0.732 X 6.5 m 2.9
IR T RC-40 0.60 X 0.160 X 6.5 m® 0.6
A A P T oooan D ( 0.60 X 0.422 — 0.022 2 X 7,/4)X 6.5 m® 1.6
i)
38 EmR wWE+ 2.90 m® 2.9
T AT 7 )L N ALER 0.60 X 0.04 X 6.5 m® 0.16
S S N As m® 0.16
15 e E - ALy 0.023 X 0.04 X 13.0 m® 0.02
AR T RC-40, t=16cm 0.60 X 6.5 m® 3.9
A RIEAs(13)
*Eg t=3cm 0.60 X 6.5 m? 3.9
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2T X CRBO B+ TR R

T+ T ¥ & &
+TAa47° THEHE As PP ¢ 13 DP=0.65m
S7
+ TR = 1.0 = 1.0 m
< L >
fEEl | BR
i
i
i
i
i
|
|
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.022
= = WHIES ERM - pp_| 4| 0.650
| RC-40 < H1 [#mEigE] 0.772
i H2 | #AlE] 0.772
1B hl |54 0.350
iz—k \ h | # & 0422
! ou
i S
~N B| —
l | =
—t
i Sy 4
!
¢D
( 1.0 m Y7=0¥kE)
4 R G2 N #t B =Y B =
BRI T ek B+ 0.60 X 0.772 X 1.0 m’ 0.5
BHIERE T RC-40 0.60 X 0.350 X 1.0 m? 0.2
=d S oar A ( 0.60 X 0422 — 0.022 2 X z,/4)X 1.0 m’ 0.3
$mi)
FA TR wWE+ 0.50 m® 0.5
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2TR(Re%) #HBA

PP¢50-PP 25 &E#f-FH75

N Ny R
4 B e R RO H A BB i
[&44]
17&E 2-1TX
RYFL A $ 50 50.0 50.0 m
176 2-2T X 2-3T[X JHK
$25 1.0 + 45.0 + 2.0 48.0 m
1F&E S1 sS4
o 13 05 X 1 + 20 X 1 2.5 m
PPV ok ¢ 50 1 1 e
PVY 4ok o 13 2 2 e
PP /LR ¢ 50 3 3 1
S1
¢ 13 1 1 i
PPHEZEF—X $25X ¢ 13 1 1 P[5
PPy $ 50 1 1 e
PPE H (PP=AY Yoy ke AN vk ErEe) itk
PR Gk ke 650X $25 | 2+ 1 3 JE]
(PP=AYY o b M v &)
650X ¢ 13 1 1 F[E5)
(PPIBRAL2{HEE Tp) BiVN
Bl LT 625 1+ 1 2 | A
fiads
FRASY KAy $25 2 2 e
MC=7%4> ¢ 50 2 2 &
FRIRTE ¢ 50 42.0 42.0 m
$25 37.5 37.5 m
[77%]
AV =FLUERRMA T ¢ 50 50.0 50.0 m
$25 48.0 48.0 m
o013 2.5 2.5 m
Vo TR Xy
PPk T ¢ 50 2 + 6+ 1 9 A
REF—AX ki
$25 2 + 3 5 m
222N E%iN BERF—R Ly
613 4 + 2 o+ 1 + 1 8 m
PP
PRk R AR T ¢ 50X ¢ 25 3 3 & AT
PP
$»50X ¢ 13 1 1 & AT
RIxF LU ERET ¢ 50 50.0 50.0 m
¢ 25 48.0 48.0 m
613 2.5 2.5 m
RY=F L a1 ¢ 50 50.0/6 - 1 8 ]
¢ 25 48.0/6 - 1 7 u
¢ 50 ¢ 25 613
BT 50.0 X 1.216 + 48.0 X 0.423 + 25 X 0.184 BES 5% 8 81.6 kg
ok TR
AT ¢ 50 1 X 2910 + 3 X 3.170 12.4 kg
REF—R Kb
$25 1 X 0970 + 2 X 0.600 2.2 kg
Viroh LR
o 13 2 X 0375 + 1 X 0.340 1.1 kg
FpArTS Lt 15.7 kg
SRR T 537k $50% ¢ 13 43K 650X ¢ 25
1 X 170 + 1 X 240 #AITYT it 4.1 kg
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2T IX (o) #fiBh + TR R

T+ T ¥ & &
T A7 | ER2-1 THEHE As PP ¢ 50 DP=0.90m
2-1 X
+ TR = 1.0 = 1.0 m
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
T
| pemET !
| RC-40 E
! A4
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= =| ° WHIES ERM o~ DP_| 8 | 0.900
| RC-40 < H | #iE] 0.960
i Hl | #EAl&] 0.920
| h2 | HER| 0.770
! h W @&
|
i
=
( 1.0 m Y7=0¥kE)
4 PR G2 N B =Y B =
EAERR B As, t=15cmbL T 2 X 1.0 m 2.0
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 1.0 m> 0.6
BRI T Mg WE 1 0.60 X 0.920 X 1.0 m 0.6
A AR B T RC-40 ( 0.60 X 0.770 — 0.060 2 X x,/4)x 1.0 m® 0.5
TR
FA TR WE+ 0.60 m® 0.6
T AT 7 )L ML 0.60 X 0.04 X 1.0 m® 0.02
MR AR e As m’ 0.02
TG VEEE - /L4y T 0.023 X 0.04 X 2.0 m®|  0.002
AR T RC-40, t=16cm 0.60 X 1.0 m> 0.6
A RIFEAs(13)
*g t=3cm 060 X 1.0 m® 0.6
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2T IX (o) #fiBh + TR R

T+ T ¥ & &
+TH47° | FFE2-1 TIEEE As PP ¢ 50 DP=0.90m
+ TR = 1.0 = 1.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= £ ° WHIES ERM o~ DP_| 8 | 0.900
| RC-40 < H | #iE] 0.960
i H2 | A& ]  0.930
| h2 | HER| 0.770
! h W @&
|
! _
=
( 1.0 m Y7=0¥kE)
4 PR G2 N 7 " =Y B =
EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 1.0 m> 0.6
BRI T Mg WE 1 ( 0,60 X 0.930 — 0.060 2 X x,/4)X 1.0 m? 0.6
IR T RC-40 0.60 X 0.770 X 1.0 m® 0.5
TR
FA TR WE+ 0.60 m® 0.6
T AT 7 )L ML 0.60 X 0.03 X 1.0 m® 0.02
MR AR e As m’ 0.02
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 1.0 m> 0.6
A RIFEAs(13)
*g t=3cm 060 X 1.0 m® 0.6
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2T IX (o) #fiBh + TR R

T+ T ¥ & &
+TAA7° | ER2-3 THEHE As PP ¢ 50 DP=0.30m
2-1 X
+ TR = 3.4 +4.0 = 7.4 m
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % 3
T
| pemET !
| RC-40 S
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= =| ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #iE] 0.360
i Hl | #EAl&]  0.320
| h2 | M| 0.170
! h W @&
|
i
=
( 7.4 m H70HE)
4 R G2 N B =Y B =
SHAERR G As, t=15emZL T 2 X 74 m 14.8
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 7.4 m> 4.4
BRI T Mg WE 1 0.60 X 0.320 X 7.4 m 1.4
IR T RC-40 0.60 X 0.170 — 0.060 2 X g5,/ 4)X 7.4 m® 0.7
TR
FA TR WE+ 1.40 m® 1.4
T AT 7 )L ML 0.60 X 0.04 X 7.4 m® 0.18
i SN As m’ 0.18
TG VEEE - /L4y T 0.023 X 0.04 X 14.8 m®| 0.014
AR T RC-40, t=16cm 0.60 X 7.4 m> 4.4
A RIFEAs(13)
# )= t=3cm 060 X 7.4 m® 4.4
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2T IX (o) #fiBh + TR R

T+ T ¥ & &
+TH47° | frE2-3 TIEEE As PP ¢ 50 DP=0.30m
+ TR = 7.4 = 7.4 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
T
| pmET 1
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= £ ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #iE] 0.360
i H2 | A& ] 0.330
! h2  [$EFEM| 0.170
! h W @&
|
i
=
( 7.4 m H70HE)
4 R G2 N B =Y B =
EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 7.4 m> 4.4
BRI T Mg WE 1 ( 0,60 X 0.330 — 0.060 2 X x,/4)X 7.4 m? 1.4
IR T RC-40 0.60 X 0.170 X 7.4 m® 0.8
TR
FA TR WE+ 1.40 m® 1.4
T AT 7 )V NSE 0.60 X 003 X 7.4 m® 0.13
MR AR e As m’ 0.13
TGIRIEM - T
AR T RC-40, t=16cm 0.60 X 7.4 m? 4.4
A RIFEAs(13)
*g t=3cm 060 X 7.4 m® 4.4
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2T IX (o) #fiBh + TR R

T+ T ¥ & &
+TAA7° | %24 THEHE As PP ¢ 25 DP=0.90m
2-3 X
+ TR = 1.0 = 1.0 m
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
T
| pemET !
| RC-40 S
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
= =| ° WHIES ERM o~ DP_| 8 | 0.900
| RC-40 < H | #0934
i Hl |#EHIE] 0.894
| h2 | MR 0.744
! h W @&
|
i
=
( 1.0 m Y7=0¥kE)
4 PR G2 N B =Y B =
EAERR B As, t=15cmbL T 2 X 1.0 m 2.0
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 1.0 m> 0.6
BRI T Mg WE 1 0.60 X 0.894 X 1.0 m 0.5
IR T RC-40 0.60 X 0.744 — 0.034 2 X gx,/4)x 1.0 m® 0.4
TR
FA TR WE+ 0.50 m® 0.5
T AT 7 )L ML 0.60 X 0.04 X 1.0 m® 0.02
MR AR e As m’ 0.02
TG VEEE - /L4y T 0.023 X 0.04 X 2.0 m®|  0.002
AR T RC-40, t=16cm 0.60 X 1.0 m> 0.6
A RIFEAs(13)
*g t=3cm 060 X 1.0 m® 0.6
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2T IX (o) #fiBh + TR R

T+ T ¥ & &
+TH47° | fE2-4 TIEEE As PP ¢ 25 DP=0.90m
+ TR = 1.0 = 1.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
= £ ° WHIES ERM o~ DP_| 8 | 0.900
| RC-40 < H | #0934
i H2 | #EAIE]  0.904
! h2 [ 0.744
! h W @&
|
! _
=
( 1.0 m Y7=0¥kE)
4 R G2 N 7 B =Y B =
EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 1.0 m> 0.6
BRI T Mg WE 1 (060 X 0904 — 0.034 2 X x,/4)X 1.0 m? 0.5
IR T RC-40 0.60 X 0.744 X 1.0 m® 0.4
TR
FA TR WE+ 0.50 m® 0.5
T AT 7 )V NSE 0.60 X 003 X 1.0 m® 0.02
MR AR e As m’ 0.02
TGIRIEM - T
AR T RC-40, t=16cm 0.60 X 1.0 m? 0.6
A RIFEAs(13)
*g t=3cm 060 X 1.0 m® 0.6
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2T IX (o) #fiBh + TR R

T+ T & &
+TAA7° | ER2-5 THEHE As PP ¢ 25 DP=0.30m
2-2T X 2-3 T [X
+ TR L= 1.0 +3.0 = 4.0 m
< L »|
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
T
| pemET !
| RC-40 S
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
= =| ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #misge[ 0.334
i Hl | #EAIE] 0.294
| h2 |3 0.144
i h | &
|
i _
=
( 4.0 m H7=v¥HKE)
4 PR G2 N B =Y B =
EAERR B As, t=15cmbL T 2 X 4.0 m 8.0
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 4.0 m> 2.4
BRI T Mg WE 1 0.60 X 0.294 X 4.0 m 0.7
A BT RC-40 0.60 X 0.144 — 0.034 2 X x,/4)X 4.0 m® 0.3
R
FA TR WE+ 0.70 m® 0.7
T AT 7 )L ML 0.60 X 0.04 X 4.0 m® 0.10
MR AR e As m’ 0.10
TETRIEE - L5 T 0.023 X 0.04 X 8.0 m®|  0.007
BEAE T RC-40, t=16cm 0.60 X 4.0 m> 9.4
A RIFEAs(13)
*/g t=3cm 0.60 X 4.0 m? 2.4
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2T X (%) il T HE#HEE
T+ T ¥ & &
+TH47° | fE2-5 TIEEE As PP ¢ 25 DP=0.30m
+ TR = 4.0 = 4.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
= £ ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #misge[ 0.334
i H2 | #EAIE] 0.304
! h2  [$EFEH| 0.144
! h W @&
|
i
=
( 4.0 m M70HE)
4 R G2 N B =Y B =
EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 4.0 m> 2.4
BRI T Mg WE 1 ( 060 X 0304 — 0.034 2 X x,/4)X 4.0 m? 0.7
IR T RC-40 0.60 X 0.144 X 4.0 m® 0.3
TR
FA TR WE+ 0.70 m® 0.7
T AT 7 )V NSE 0.60 X 0.03 X 4.0 m® 0.07
MR AR e As m’ 0.07
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 4.0 m> 2.4
A RIFEAs(13)
*g t=3cm 0.60 X 4.0 m® 2.4
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2T IX (o) #fiBh + TR R

T+ T ¥ & &
+TH47° | %26 TEHE As PP ¢ 25 DP=0.30m
+ TR L= 3.5 = 3.0 m
< L »|
fEEl | BR
i
i
i
i
[
|
|
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.034
| = e WY BREM ~ DP | +#Y | 0.300
| RC-40 < H | #RillzE[ 0.334
i Hl |#EAI&] 0.334
: h2  [$EFEH| 0.334
i h |5
| |
=
( 3.5 m Y7k )
4 R G2 N #t B =Y B =
BRI T ek B+ 0.60 X 0.334 X 3.5 m’ 0.7
AR T RC-40 0.60 X 0.334 — 0.034 > X xn,/4)x 3.5 m’ 0.7
fin) 1A
B R P+ 0.70 m® 0.7
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2T IX (o) #fiBh + TR R

T+ T ¥ & &
+TH47° | fFE2-6 TIEEE As PP ¢ 25 DP=0.30m
+ TR L= 3.5 = 3.0 m
< L »|
fEEl | BR
A | A
i
i
i
[
|
i
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.034
| £ e RS ERA « DP | +#Y | 0.300
g RC-40 < H | #RillzE[ 0.334
i H2 | #AI&] 0.334
: h2  [$EFEH| 0.334
! h W @&
| |
=
( 3.5 m HhHE)
4 PR G2 N #t " =Y B =
BRI E T bk wE 1+ ( 060 X 0334 — 0034 2 X x,/4)xX 35 m’ 0.7
BRI T RC-40 0.60 X 0.334 X 3.5 m? 0.7
i
FA TR WE+ 0.70 m® 0.7
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2T IX (o) #fiBh + TR R

T+ T ¥ & &
+TAA7° | Ek2-8 THEHE As PP 13 DP=0.30m
S1
+ TR = 0.5 = 0.5 m
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % S
T
| pemET !
| RC-40 S
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
= =| ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #igE] 0.322
i Hl | #EAI&] 0.282
! h2 |5 0.132
! h W @&
|
i
=
( 0.5 m M7=vHE)
4 PR G2 N B =Y B =
EAERR B As, t=15cmbL T 2 X 0.5 m 1.0
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 0.5 m> 0.3
BRI T Mg WE 1 0.60 X 0.282 X 0.5 m 0.1
IR T RC-40 0.60 X 0.132 — 0.022 2 X 7,/4)X 0.5 m? 0.0
TR
FA TR WE+ 0.10 m® 0.1
T AT 7 )L ML 0.60 X 0.04 X 0.5 m® 0.01
MR AR e As m’ 0.01
TG VEEE - /L4y T 0.023 X 0.04 X 1.0 m®|  0.001
AR T RC-40, t=16cm 0.60 X 0.5 m> 0.3
A RIFEAs(13)
*g t=3cm 060 X 0.5 m® 0.3
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2T X (%) il T HE#HEE
T+ T ¥ & &
+TH47° | frE2-8 TIEEE As PP ¢ 13 DP=0.30m
+ TR = 0.5 = 0.5 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
= £ ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #igE] 0.322
i H2 | #AIE] 0.292
! h2 |5 0.132
! h W @&
|
i
=
( 0.5 m M7=vHE)
4 R G2 N B =Y B =
EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 0.5 m> 0.3
BRI T Mg WE 1 (060 X 0.292 — 0.022 2 X 5,/4)X 05 m? 0.1
IR T RC-40 0.60 X 0.132 X 0.5 m® 0.0
TR
FA TR WE+ 0.10 m® 0.1
T AT 7 )V NSE 0.60 X 0.03 X 0.5 m® 0.01
MR AR e As m’ 0.01
TGIRIEM - T
AR T RC-40, t=16cm 0.60 X 0.5 m? 0.3
A RIFEAs(13)
*g t=3cm 060 X 0.5 m® 0.3
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2T IX (o) #fiBh + TR R

T+ T ¥ & &
+TH47° | E%2-10 TEHE As PP ¢ 13 DP=0.30m
S4
+ TR L= 2.0 = 2.0 m
< L »|
fEEl | BR
i
i
i
i
[
|
i
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.022
| = e WY BREM ~ DP | +#Y | 0.300
| RC-40 < H | HEEE[ 0.322
i Hl | A& ] 0.322
: h2 [ 0.322
i h |5
| |
=
( 2.0 m ¥ )
4 R G2 N #t B =Y B =
BRI T ek B+ 0.60 X 0.322 X 2.0 m’ 0.4
AR T RC-40 0.60 X 0.322 — 0.022 2 X x/4)X 2.0 m’ 0.4
fin) 1A
B R P+ 0.40 m® 0.4
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2T IX (o) #fiBh + TR R

T+ T ¥ & &
+TH47° | #2-10 THEHE As PP ¢ 13 DP=0.30m
+ TR L= 2.0 = 2.0 m
< L »|
fEEl | BR
A | A
i
i
i
[
|
|
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.022
| £ e RS ERA « DP | +#Y | 0.300
g RC-40 < H | HEEE[ 0.322
i H2 | A& ] 0.322
: h2 [ 0.322
! h W @&
| |
=
( 2.0 m H7hHE)
4 PR G2 N #t " =Y B =
BRI E T bk wE 1+ ( 060 X 0322 — 0.022 2 X xn,/4)x 2.0 m’ 0.4
BRI T RC-40 0.60 X 0.322 X 2.0 m? 0.4
i
FA TR WE+ 0.40 m® 0.4

38




X R T

4 ks WX O A R
[95%]
o TR Bt | s
DX IR 15cm 5.4 0.6 6.0 m
IR Al BT
45cm 2.0 2.0 m
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2TR(AZR) B PP@25-PPp20 BE#-F7E

N ‘ I
4 B e W I R O S K BB i
[&44]
15
RYFL A ¢ 25 18.8 18.8 m
15E
$20 27.2 27.2 m
1F&E S7
o 13 1.0 X 1 1.0 m
PVYrob 613 1 1 e
PPV rob $ 25X ¢ 20 1 1 P[5
PVIEEY b 620X ¢ 13 1 1 P[5
PPHEZETF—X $25X ¢ 13 1 1 L5
V2% 3P 625 620 613
ERT— 150mm 188 + 272 + 1.0 470 | m
F—R W ok
~—h—H 1 + 2 3 &
[77%]
RY=F LR T $25 18.8 18.8 m
620 27.2 27.2 m
613 1.0 1.0 m
B roh BEEF—X
PPikFT. ¢ 25 1 + 2 3 ]
Bk
620 2 2 m
Virvh By BEF—X
613 2 + 1 o+ 1 4 m]
B —RL 47.0 m
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2T X ORBY) B+ TR R

T+ T ¥ & &
+TAa47° 1-3 THEHE As PP ¢ 25 DP=0.65m
+ TR L= 188 = 18.8 m
< L >
fEEl | BR
T
i
i
i
[
|
!
5 W | #EEIE] 0.600
a [ D1 [#&4M%| 0.034
= e HARIEE BREM — DP | +#0 [ 0.650
I RC-40 < H1 | #mige[ 0.784
i H2 | #HIE] 0.784
1B hl |54 0.350
iz—k \ h | # & 0434
! ou
i S
~N B —4
l | =
—1
i Sy 4
!
¢D
( 18.8 m Y7hi&E)
4 R G2 N #t " =Y B =
BRI T ek B+ 0.60 X 0.784 X 18.8 m’ 8.8
BHIERE T RC-40 0.60 X 0.350 X 18.8 m? 3.9
=d S oar A ( 0.60 X 0434 — 0.034 2 X x,/4)x 18.8 m? 4.9
$mi)
FA TR wWE+ 8.80 m® 8.8
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2T X ORBY) B+ TR R

T+ T ¥ & &
+TAa47° 1-4 THEHE As PP ¢ 20 DP=0.65m
+ TR L= 27.2 = 27.2 m
< L >
fEEl | BR
T
i
i
i
[
|
!
5 W | #EEIE] 0.600
a [ D1 [#&4M%| 0.027
= e HARIEE BREM — DP | +#0 [ 0.650
I RC-40 < H1 [#miEgE] 0.777
i H2 | #Al&] 0.777
1B hl |54 0.350
iz—k \ h | # & 0427
! ou
i S
~N B| —
l | =
—t
i Sy 4
!
¢D
( 27.2 m 47-0EE)
4 PR G2 N #t " =Y B =
ERIEE T et WE 0.60 X 0.777 X 27.2 m® 12.7
BHIERE T RC-40 0.60 X 0.350 X 27.2 m? 5.7
=d S oar A ( 0.60 X 0427 — 0.027 2 X x,/4)Xx 27.2 m? 7.0
$mi)
FEA T R W+ 12.70 m® 12.7

43




2T X ORBY) B+ TR R

T+ T ¥ & &
+TAa47° 1-7 THEHE As PP ¢ 13 DP=0.65m
S7
+ TR L= 1.0 = 1.0 m
< L >
fEEl | BR
i
i
i
i
i
|
i
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.022
= = WHIES ERM - pp_| 4| 0.650
| RC-40 < H1 [#mEigE] 0.772
i H2 | #AlE] 0.772
1B hl |54 0.350
iz—k \ h | # & 0422
! ou
| o
~N B —4
l | =
—t
i Sy 4
!
¢D
( 1.0 m Y7=0¥kE)
4 R G2 N #t B =Y B =
BRI T ek B+ 0.60 X 0.772 X 1.0 m’ 0.5
BHIERE T RC-40 0.60 X 0.350 X 1.0 m? 0.2
=d S oar A ( 0.60 X 0422 — 0.022 2 X z,/4)X 1.0 m’ 0.3
$mi)
A E R wWE+ 0.50 m® 0.5
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2T X({RER) Byt PP@50-PPp25 &E#-F75

N ‘ R
4 B e W I R O S K BB i
[&44]
15
RYFL A ¢ 25 18.8 18.8 m
15E
$20 27.2 27.2 m
1F&E S5
o 13 0.5 X 1 0.5 m
PVY/4roh o13 1 1 e
PPV rob $ 25X ¢ 20 1 1 P[5
PVELLY rob ¢ 20X ¢ 13 1 1 {18
PPRETF —X $25%X ¢ 13 1 1 1A
RN ¢ 25 16.0 16.0 m
$20 23.5 23.5 m
[77%]
AT LR T ¢ 25 18.8 18.8 m
$20 27.2 27.2 m
o 13 0.5 0.5 m
BRIy BREF—X
PPk T $ 25 1 + 2 3 m
B ok
$20 2 2 r
Vhrykh REYryh RBEF—R
613 2 + 1 o+ 1 4 m
RV oF L EL $25 18.8 18.8 m
$20 27.2 27.2 m
¢ 13 0.5 0.5 m
RY=F L E G T ¢ 25 18.8/6 - 1 3 =]
$20 27.2/6 - 1 4 m
¢ 25 ¢ 20 ¢ 13
BT 18.8 X 0.423 + 27.2 X 0.269 + 0.5 X 0.184 BES T it 15.4 kg
R ok BT —=
FESRAT T $ 25 1 X 0.665 + 1 X 0.970 1.6 kg
B ok
$20 1 X 0.500 0.5 kg
ok
o 13 1 X 0.375 0.4 kg
FskArTvT Ak 2.5 kg
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2T X (i) B+ TRCR R R

T+ T ¥ & &
+TH47° | %26 TEHE As PP ¢ 25 DP=0.30m
+ TR L= 2.8 = 2.8 m
< L »|
fEEl | BR
i
i
i
i
[
|
|
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.034
| = e WY BREM ~ DP | +#Y | 0.300
| RC-40 < H | #RillzE[ 0.334
i Hl |#EAI&] 0.334
: h2  [$EFEH| 0.334
i h |5
| |
=
( 2.8 m ¥k )
4 R G2 N #t B =Y B =
BRI T ek B+ 0.60 X 0.334 X 28 m’ 0.6
AR T RC-40 0.60 X 0.334 — 0.034 > X xn,/4)x 228 m’ 0.6
fin) 1A
B R P+ 0.60 m® 0.6
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2T X (i) B+ TRCR R R

T+ T ¥ & &
+TH47° | fFE2-6 TIEEE As PP ¢ 25 DP=0.30m
+ TR L= 2.8 = 2.8 m
< L »|
fEEl | BR
A | A
i
i
i
[
|
i
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.034
| £ e RS ERA « DP | +#Y | 0.300
g RC-40 < H | #RillzE[ 0.334
i H2 | #AI&] 0.334
: h2  [$EFEH| 0.334
! h W @&
| |
=
( 2.8 m HhHE)
4 PR G2 N #t " =Y B =
BRI E T bk wE 1+ (060 X 0334 — 00342 X x,/4)x 28 m’ 0.6
BRI T RC-40 0.60 X 0.334 X 2.8 m? 0.6
i
FA TR WE+ 0.60 m® 0.6
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2T X (i) B+ TRCR R R

T+ T ¥ & &
+TH47° | %27 TEHE As PP ¢ 20 DP=0.30m
+ TR L= 3.7 = 3.7 m
< L »|
fEEl | BR
i
i
i
i
[
|
|
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.027
| = e WY BREM ~ DP | +#Y | 0.300
| RC-40 < H | HEEE[ 0.327
i Hl | A& ] 0.327
: h2  [$EFEM| 0.327
i h |5
| |
=
( 3.7 m Y70 )
4 R G2 N #t B =Y B =
BRI T ek B+ 0.60 X 0.327 X 3.7 m’ 0.7
AR T RC-40 0.60 X 0.327 — 0.027 > X /4 )x 3.7 m’ 0.7
fin) 1A
B R P+ 0.70 m® 0.7

49




2T X (i) B+ TRCR R R

T+ T ¥ & &
+TH7° | =27 TIEEE As PP ¢ 20 DP=0.30m
+ TR L= 3.7 = 3.7 m
< L >
fEEl | BR
A | A
i
i
i
[
i
i
5 W | #EEIE] 0.600
a [ D1 [#&4M%| 0.027
| £ e RS ERA « DP | +#Y | 0.300
g RC-40 < H | HEEE[ 0.327
i H2 | #AlE] 0.327
: h2  [$EFEM| 0.327
! h W @&
| |
=
( 3.7 m H0HE)
4 PR G2 N #t " =Y B =
BRI E T bk wE 1+ ( 0.60 X 0.327 — 0.027 2 X x,/4)X 3.7 m’ 0.7
BRI T RC-40 0.60 X 0.327 X 3.7 m? 0.7
i
FA TR WE+ 0.70 m® 0.7
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2T X (i) B+ TRCR R R

T+ T ¥ & &
+TH47° | E%2-10 TEHE As PP ¢ 13 DP=0.30m
S5
+ TR L= 0.5 = 0.5 m
< L »|
fEEl | BR
i
i
i
i
[
|
i
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.022
| = e WY BREM ~ DP | +#Y | 0.300
| RC-40 < H | HEEE[ 0.322
i Hl | A& ] 0.322
: h2 [ 0.322
i h |5
| |
=
( 0.5 m H7=v¥k=)
4 R G2 N #t B =Y B =
BRI T ek B+ 0.60 X 0.322 X 0.5 m’ 0.1
AR T RC-40 0.60 X 0.322 — 0.022 > X xn,/4)X 0.5 m’ 0.1
fin) 1A
B R P+ 0.10 m® 0.1
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2T X (i) B+ TRCR R R

T+ T ¥ & &
+TH47° | #2-10 THEHE As PP ¢ 13 DP=0.30m
+ TR L= 0.5 = 0.5 m
< L »|
fEEl | BR
A | A
i
i
i
[
|
|
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.022
| £ e RS ERA « DP | +#Y | 0.300
g RC-40 < H | HEEE[ 0.322
i H2 | A& ] 0.322
: h2 [ 0.322
! h W @&
| |
=
( 0.5 m M7=vHE)
4 PR G2 N #t " =Y B =
BRI E T bk wE 1+ (060 X 0322 — 0.022 2 X x,/4)X 0.5 m’ 0.1
BRI T RC-40 0.60 X 0.322 X 0.5 m? 0.1
i
FA TR WE+ 0.10 m® 0.1
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